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1. Options shown in green color with atick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q1 Leukemia is a type of human disease which is Question ID : 2055233830

Status : Answered
Chosen Option : 1

A. a cancer of the white blood cells

B. caused by deficiency of vitamins
C. a cancer in the brain
D. caused by an overdose of proteins

Ans 3 1.D
lZ.A
xa.B
x4.c

02 1£625 = 25; then v(.00000625/25) is: Question ID : 2055233851

Status : Answered

A. 0.0025 Chosen Option : 2

B. 0.001
C. 0.0001
D. 0.0005

Ans 5" 1.B
Xzac
XS.A
W 4D

Q3 10 pens and 74 pencls were prachasad for Ra. 3020, 1f the sverage price of a peosil = s 21X, then <alcnbie the avengs
peice (InRs ) of'e pes. Question ID : 2055233853
A6
B4 Status : Answered

Lo 3

D1 Chosen Option : 4

Ans ‘,1.(:
XZ.A
X 3B
X 4D

Comprehension:
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Based on the diagram answer the following questions:

The figure given below consists of three intersecting circles which represent sets of students who play Football, Cricket
and Basket Ball. Each region in the figure is represented by a small letter.

Football Cricket

basketball

SubQuestion No : 4
Q.4 Which regicn represents the s2t of persons who play Football and Basket Ball but not Cricket?

Question ID :2055233905

A Region g
B. Regica e Status :Answered

C. Regioa ¢ s
D. Region b Chosen Option : 3

Ans 1A
XZ.B
J3.D
x4.c

Comprehension:
Based on the diagram answer the following questions:

The figure given below consists of three intersecting circles which represent sets of students who play Football, Cricket
and Basket Ball. Each region in the figure is represented by a small letter.

Football Cricket

basketball

SubQuestion No : 5
Q.5 Which regson represents the set of persans who play Football but neither Cricket soc Basket Ball?

Question ID :2055233906

A. Regiona
B. Regionb Status :Answered
C. Region ¢ o
D. Region d Chosen Option : 2

Ans x 1.D

‘/2.A
xs.c
X4.B

Comprehension:
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Based on the diagram answer the following questions:

The figure given below consists of three intersecting circles which represent sets of students who play Football, Cricket

and Basket Ball. Each region in the figure is represented by a small letter.

Foothall Cricket

basketball

SubQuestion No : 6
Q-6 Which region represents the set of persons who play all the three games?

A, Region b
B. Region ¢
C. Region f
D. Region g

Ans }(1.A
ng
Xs.c
¢4.B

Question ID :2055233904
Status :Answered
Chosen Option : 4

Q7 Hemanrt satd to Novtik, “Thst boy playig with the Saoall is the younger of the two broters of the danghter of my father's
wife,” How ¥ the boy playing football refsed %o Hamant?

A Son
B. Brother
C Cossis

D. Naghew

Ans  x1.C
X 2A
‘/3.3
)(4.D

Question ID :2055233893
Status :Answered
Chosen Option : 3

Q8 Which of the following is not an output device?

A. Plotter
B. Speaker
C. Printer
D. Scanner

Ans )(1.0
X 2.A
‘}(3.8
J4.D

Question ID :2055233827
Status :Answered
Chosen Option : 2

Q9 was the first satellite launched by U.S in 1958.

A. Sputnik 1
B. Apollo 11
C. GSAT

D. Explorer 1

Ans X 1A
X2.c
X 3B
«4.D
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Q.10 Jmstmi

e ksl
A, 0 mirstes § seconds
B. 18 miautes 5 sscons Status :Answered
1 e 10 séaninds .
Dh 11 moimubes 20 seronds: Chosen Option : 1

Ans xl.c
JZ.A
XS.B
X 4D

Q.]J_ Name the momument which sigmfies the “seat of foe boly Buddha® where it is believed that Lord Buddha delivered his
St sermon.

Question ID :2055233817
g en Sn::‘:u?:n Status :Answered
C. Shingardor Stupe, Swat valley
D. Dro-ded Chortes, Gangtok
Ans x 1.D
x 2.C
x 3.B

J4.A

Q12 Complete the Figure X from the given alternatives 1.2,3,4

Chosen Option : 1

Question ID : 2055233890
Status :Answered
Chosen Option : 3
9

A @ @ @

(X) (1) (2) (3) (4)

Cowp
e W =

Ans fl.c
XZ.D
XS.B
X4.A

Comprehension:

Based on the below given information, answer the questions:

In an Exhibition, seven air conditioners of different companies - LG. Carrier, Samsung. Godrej, Whirlpool. Hitachi and
Videocon are kept facing east in the following order :

LG is next to right of Videocon.

Videocon is fourth to the right of Samsung.
Guodrej air conditioner is between air conditioner Carrier and Hitachi.
Samsung, which is third to the left of air conditioner Carrier, is at one end.
SubQuestion No : 13

Q.1 Which one of the following statements ix correct?

3 ; e a s . et . Question ID :2055233898
A. Videocon air conditioner is in between air conditioner Carrier and Samsung. )
B. LG is next left to Whiripool air conditioner. Status :Not Attempted
C. Videocon is next right of LG. Chosen Option :--

D. Godrej is fourth right of Whirlpool.

Ans x1.A
vz.B
X 3D
Xac
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Comprehension:

Based on the below given information, answer the questions:

In an Exhibition. seven air conditioners of different companies - LG, Carrier, Samsung, Godrej. Whirlpool. Hitachi and

Videocon are kept facing east in the following order :
LG 1s next to right of Videocon.

Videocon is fourth to the right of Samsung.
Godrej air conditioner is between air conditioner Carrier and Hitachi.
Samsung, which is third to the left of air conditioner Carrier, is at one end.

SubQuestion No : 14

Q.1 Which of the following groups of air canditioners is to the right of air conditioner Carrier?

4 A LG, Videocon and Godrej
B. Whirlpool, LG and Videocon
C. Godrej, Hitachi and Samsung
D. Hitachi, LG and Videocon

Question ID :2055233899
Status :Not Attempted
Chosen Option : --

Ans XLD
XZ.A
Xs.c
‘,4.5

Comprehension:
Based on the below given information, answer the questions:

Videocon are kept facing east in the following order :
LG is next to right of Videocon.

Videocon is fourth to the right of Samsung.

Godrej air conditioner is between air conditioner Carrier and Hitachi.
Samsung, which is third to the left of air conditioner Carrier, 1s at one end.
SubQuestion No : 15

In an Exhibition, seven air conditioners of different companies - LG. Carrier, Samsung, Godrej, Whirlpool, Hitachi and

Qél Which of the following statements is correct?

A. Godrej is next left of air conditioner Carrier.
B. Hitachi is next left of Samsung.

Question ID :2055233897
Status :Not Attempted
Chosen Option :--

C. Hitachi is at one end.
D. Samsung is next second to the right of Godrej.

Ans KLB
XZ.D

«3.A
X4.c

Q.16 Abdur Ralunan and British Raj representative Mr. Mostimer signad an agreement establishing

A, Radehfie Ling
B. Durand Line

C. Moctimer Line
D, Macrsoban Line

Question ID :2055233843
Status :Answered
Chosen Option : 4

Ans Xl.A
?(2.0
JS.B
X4.D

Q.17 Four words are given below out of which three are alike in some manner and one
1s different. Which cne ts different from the rest?

A, Tower
B. Sea

Question ID :2055233889
Status :Answered
Chosen Option : 3

C. Valley
D. Mountain

Ans Xl-c
XZ.B
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,3.A
X4.D

1 Mang the commitize, appotmed te ideaify the creamy bver smong the OB, winch sbmmsd it repor m E9E and v
Q.18 s {

Question ID :2055233825

A Or. K M Menshi Comimines

B. 5V Mavnlanker Comumitee Status :Answered
. Pt Wil C o Es i
0. Sewist Sagh Cosunime: Chosen Option : 1

Ans Xl.B A
KZ.D
'U'?"C
?{4.A

Q.19 What is the canse of bio-magnification (or bio-accumulation)? |

Question ID :2055233850

A. Ozone Status :Answered
B. Organc-chlorines Chosen Option :2

C. Lichens -

D. Proteins

Ans ?(LD
?(2.A
W38
X4.c

Q.20 Which of the following pewer houses is/ars associnted with Damodar Valley Project? [

I Dargipus

II. Chandrapur Status :Answered
[T Maithon Chosen Option : 2

IV, Hampi [

Chioose the right option.

A Only T and I1
B. Only II and 1T
C. 1, 1T aaed 101

DL I M and TV

Ans “l.C
X 28
5 3A
?{4.D

Q.21 Comstruction of e Quivh Mizar, the world's tllest brsck minsret commenced in 1193, mder the orders |~
A

Question ID :2055233834

. the fomndes of e Delhi Sultazate. Question ID : 2055233818
A Fiioz Shah Tughlag .
& ri Status :Answered
©, Thenishy Chosen Option : 3

Ans x 1.A

Q.22 Erishnanattam is a famous dance of which of the following states? | Question ID : 2055233833

A, Andhra Pradesh Status :Answered

B. Karnataka Chosen Option : 1

C. Kerala i
D. Tamilnadu

Ans 31 A
}(2.0
XS.B
.“4.0
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Q.23 What is the meni qeakfication fixed for camdi g, in the Panchaysti Ry Restiin@iom (FRE) sdections, a
pusaed by Hoyaas Penchavirs Faj (Amemdnsat) Bill, 20057
A, Higher Sacondany
B. Morculsian
. Mo aduestionsl qusliGention eoly tmmimen e 8 51y
[ Chraduation

Question ID :2055233819
Status :Answered
Chosen Option : 1

Ans 1.A
2.C
3.B
4.D

Note: For this question, discrepancy is found in question/answer. So, Th
is question is ignored for all candidates.

Q-24 Who smong the following murscens who bved between § 253 mmd 1325 AL, v disomlly conaidored w e imior |
o inhla and sitart ‘

|

|

A, Tiise

B Ao Kb
. Svami Shasn
. Ealjs Bawme

Question ID :2055233832
Status :Answered
Chosen Option : 1

Ans x1.D
W28
Xasc
X4.A

Q25 A thial iS00 ihosd of a pali Tt (el | i and i pali wzaad elivang dmEneously r

Awuming e speed of thiefbe (0% & policeman be 15 ko, calrulae die disiance (0 memss) coversd by fief bafore
e pulicernm canghi the (el

A Tam

n 3w

Ci%m

0 anem

Ans 18
XZ.C
X3.D
}(4.A

Question ID : 2055233863
Status :Answered
Chosen Option : 2

Q26 il zapper technology to remove oil spills in ocean, is developed by? [

A TT
B. TERI
C. CSE
0. ISRO

Ans “1_5
?(2.c
?(3.D
?(4.A

Question ID :2055233842
Status :Answered
Chosen Option : 2

The Unim Gioreemmen| bees relered 2 commamenstive pestage slang o mark the Cenlenary year of which [
Q.27
15 the apex instibstion o faumn toooomy in din

A, Zoolgicl Survey of hudia

B Archssnlogieal Survey of Indm

. Mational Animal Species Sorvey of India
D Matinaal Sanple Sorvey Crganization

Question ID :2055233820
Status :Answered
Chosen Option : 2

Ans x'l.c
XZ.B
W 3A
X4.D

Q.28 Which Bank launched India’s first contactless mobile payment solution? |

A AXTS
E. 5BI

C. ICICI
D. HDFC N

Ans 31D
}(2.8
.Js.c
X4.A

Question ID :2055233840
Status :Answered
Chosen Option : 4
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Q.29 WHumhﬁ s sum's bannfil witeraokel (U rdistions from seaching the |
SiEfie.

A. Troposphere
E. Msssples
C. Etraioepbere
D Thermosphers

Question ID :2055233813
Status :Answered

Chosen Option : 3

Ans  of1c '*
XZ.B
XS.A
X4.D

Q30 1f+/5 = 2 236: then V542 is:

A. 1.581
B. 1.851

C. 2.236
D. 1.782

Ans ?(1.D
?(2.3
Xasc
¢4.A

Question ID :2055233852
Status :Answered
Chosen Option : 1

Q.31 The HCF of two numbers is 16 and their difference is 16, Find the numbets, |

A, 64, 80
B. 7282

. 80, 100 ,
0. 96, 120 L

Question ID :2055233857
Status :Answered
Chosen Option : 2

Ans 31D
?(z.c
?(3.5
¢4.A

Q.32 In 2801, fhe prochactmn of sype = 1364 million kgs which is 200 mone thar thes i 195 Find the prodechon (m millien |
i) ol sogar [n 1591,

A R0ED
B 1z
Loy b}
0. 1mn

Ans xl.A L
KZ.B
“3.D
N 4c

Question ID :2055233879
Status :Answered
Chosen Option : 3

Q.33 At hias been selecied io the board of goversors of the World Water Comncd P} fir 20016-18 i lbe 7 general |
assembly of AW bedd of Marssifle, France”

A Chaedbary Birmdar Smgh
B. Bam Knpal Yadm

& Sarwar Lall Tt

D Prithvi Raj Sigh

Question ID :2055233815
Status :Answered
Chosen Option : 1

Ans  Wf 1D :
KZ.A
?(3.8
}(4.c

Q34 There are over capillaries in our lungs.

A. 100 million
B. 200 million |
C. 400 million
D. 300 million

Ans x 1B
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fz.D
?(3.A
?(4.(:

Q 35 In o eorieen coda Enipmage, (CMOBTLE i eaded ia 713804 ind TABLET ia codd da 293047, then BALLET wll ba ol |
. a

A 3mesd
B, Asedy
g L2
0. asigs

Question ID :2055233881
Status :Answered
Chosen Option : 2

Ans .’1.5
XZ.C
5 3A
‘?{4.0

Q_36 A B oo finsh o work 12 days, B 2 im 19 oy amdd A C i 20 v, [n o many dees wookd A akens finish the
work?

B 3

|
A
o an

k

Question ID :2055233861
Status :Answered
Chosen Option : 1

Ans 1;%10
W28
X sc
?(4.A

Q.37 is the first indigenous afreraft of India designed and boilt by HAT [

A. HF 25 MKI
B. HT 2
C. HT 3 MKI

Question ID :2055233841
Status :Answered
Chosen Option : 2

D HF 28

Ans  of 1B
/S 2D
?{3.A
?(4.c

Q.38 Atenmis player, won 18 garnes our of 27 gammes played. Caloulz e games won i tenms of decimal, [

A 0067
B. 0.087
C. 0.50

0, 9333

Question ID :2055233856
Status :Answered
Chosen Option : 3

Ans Xl'c
528
¢3.A
?{4.D

Q3 The value of tand5? is: '

A3

B. v3/2 L
C. 13

D.1

Ans 3¢ 1A
W20
x&B
?{4.c

Question ID :2055233876
Status :Answered
Chosen Option : 2

Q 40 The expemwes of 2 person mereases by Re, 30040 for every monih in Pebrmey and barch, 1 s sgemses m bamsary was
: i 5004, Coleniote iy overags expendinee (i Rs.) fom Jasuary 1 Moreh
A 100
B. 15003
C, i
D Sk

Ans L
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Status :Answered
Chosen Option : 4

9/23



8/17/2016 p . tm

(1.A
xz.B

}(3.(:
?(4.D

Q.41 1f bl wralks # 4 kmvh, e reschas office Lste by 300 minutes of e schedulwd time. Hhe walks 58 4 knuh Be reachas -
: aftie: § misines dhaad of schisdobod thme. Calsiibioe the distanee of by offiee o his boae.

A dlm
B. dim
C. 5 km
D 8 km

Ans ,fl.c
X 2A
?(3.3
?{'4.D

Question ID : 2055233864
Status :Answered
Chosen Option : 1

Q_42 Wy it i peorearksd the “the pocket of the Indixn Pressdend = teager then bt of the Amerces Presdent” n referemcs o [
Pockel Vet Power af the Fresiemt? |

A, The power of the kedian Presdent not in ke are achon {aither positive or negaine] an the Bl for an méefinde

parind,

E. The Presidhest of 1754, his 8o reoum fhe hill S pocodslferation withen 10 days &s against 30 diys o the Indian
Pk

C_ The Presidest of 115, has so retum fhe hill $or peconsideration withn. 10 diys, 23 agumst 20 days for the Indien
Fresident.

[}, Ths Presidest of LEA, can® retary the kil for recomsiderston, iFbs ke # for arere than 10 days, whle that = et
the case with fhe Indias President

Ans Xl.D
}("2.3
Kac
¢4.A

Question ID :2055233826
Status :Answered
Chosen Option : 1

Q43 A straight angle is equal to ? '

A. 907

B. 1800 L
C. 2700

D. 360°

Ans o 18
N 2c
X 3D
}(4.A

Question ID :2055233874
Status :Answered
Chosen Option : 1

Q.44 miuﬁxldyilhmlhu.fti:*kui.d.'?shwi:hli.ﬂ!rnfﬂﬂEﬂurod'mmlhﬁm‘ Who s the lady in [

A Dot
B, Ster
C. At
[ Blince

Ans % 1B L
fz.c
?(3.A
/S 4D

Question ID :2055233894
Status :Answered
Chosen Option : 2

Q.45 Read the statements and select a conclusion from the given alternatives: |

Statements: Some doors are shelvas.
All the shelves are windows.

Question ID :2055233902
Status :Answered
Chosen Option : 3

Conclusions:

1. Some doors are windows,
2. Ma shelf is door

A, Only (17 conclusion follows
B. Only (2) conclusion follows
C. Either (1) or {2} follows

. Meither (1) nor (2) follows
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Ans xl'c
ng
?(3.8
¥4.A

. tm

Q.46 IE the avarsgs age of i} sedephs m Claes [ 10 yesrs and e wversge age of 5 sindents in Claes i 12 pears, find tha
averiEE a8 yen) B all rodeen,

&0

B 11
[
RS [ L]

Question ID :2055233878
Status :Answered
Chosen Option : 1

Ans XLA
}(2.5
.J?,.D
X4.c

Q_47 Poinbng tn a person, Armere mud o Preet, Fie motker mthe only dasghier of vore father®, Hoe s Prosti rebdecd io thad [
jpersan?

A, A
B Winthaer
T Wik

1. Daghier

Ans ,,1.5
xz.c
253D
}{4.A

Question ID :2055233895
Status :Answered
Chosen Option : 2

Q.48 Fill im e hlamks wirls suitable oprion:
AdAn parms blwe litmus red and atan mrns

A. Base, acid. red

B, Acid, base, green
C. Base, acld, pink |

Litrunis blne.

Question ID :2055233812
Status :Answered
Chosen Option : 4

Iy, Acid, base, red

Ans ?(1.c
XK 2A
30D
X 4B

Q.49 Which city hosted the first ‘India International Science Festival, 200577

A Kolkata

B. Bangalorz
C. Mew Delli
D. Chennai

Ans xl'D
/S 28
?(3.A
Wec

Question ID :2055233821
Status :Answered
Chosen Option : 2

Q.50 In x fruit ‘b, fhe mtio of mmber of apples s0 bananes is 4 and the mto of benanee to epples is B tes A+ v [

A exncily L

B lesa than oee
C. moee than pne
D, 20

Ans “1, c

Question ID : 2055233859
Status :Answered
Chosen Option : 2

?(2.D
?(3.8
}{'4.A

Q51 [

Question ID :2055233887

Status :Answered
Chosen Option : 3
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Insert the missing character in?
<ol [C
13| 8
A. 45
B. 29
C. 39
D. 37

Ans }(1.3
lz.c
X3.A
X 4D

Q52 When was the GSLV used in India for the first time? Question ID : 2055233848

A. 1980 Status :Answered
B. 1987 Chosen Option : 1

C. 1994
D. 2000

Ans 1.B
2.A
3.C
4.D

Note: For this question, discrepancy is found in question/answer. So, Th
is question is ignored for all candidates.

Q53 Insert the missing character in? Question ID : 2055233885

Status :Answered
Chosen Option : 2

A. 13
B. 14

C. 12
D. 15
Ans xl'A
‘;(2.0
}(3.8
!4.D

Q54 .
Question ID :2055233855

Status :Answered
Chosen Option : 2
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What fraction of 2 hours is 18 seconds?

A. 1/200
B. 1/300

C. 1/400
D. 1/600

X 1A
XZ.D
X3.B
¢4.c

Ans

Q.55 Gatesh ook alomn for & years at 5% Sumple Imerest. [f the total interest pmd was Rs. 615, calculate the principal.

A. Rs 2000
B. Rs 2050
C. Rs. 2100
D, Rs 2150

XLC

Question ID :2055233865
Status :Answered
Chosen Option : 2

XZ.D
«3.5
X4.A

Ans

Q.56 fesd e and sedeet 3 comedusi Mmd\anu

Staternents: The natiornl noem is 120 chy per ik
e avadibls i @ schook.
Coachusions:

1, Our satiozal nonm & 3ppropesye

I TS stare’s edecosion sysiem Is saking adaquate cooe iz 1his regand

Choase the right optica.

et i this e, 190 chsrooms per thoosand

Question ID :2055233911
Status :Answered
Chosen Option : 4

A, Ouly conclesicn 1 folious
B Ouly conclaion Il fllows
. Vither I or 11 foliows

D, Nether oo I1 fallows

X1p
XZ.A
X3.c
44.3

Q.57

Ans

1f 40x® = 7342 - 2342, then find the value of x.

A. 110
B. 121

Question ID :2055233872
Status :Answered
Chosen Option : 1

C. 11
D. 144

Xic
X 2D
x:a.B
J4.A

Q.58

Ans

Consider the following statements & choose the correct option.
1. Formation of blood ¢ells in the bone marrow by a process called haemopoiests,
2. Detoxification or removal of certain poisonous substances.

A. Both 1 & 2 are functions of the skeleton.
B. Both 1 & 2 are functions of the kidney

Question ID :2055233839
Status :Answered
Chosen Option : 2

C. 1 is the function of kidney and 2 of skeleton.
D. 1 1s the function of jomnts and 2 of skeleton

1.D
2.C
3.A
4.B

Note: For this question, discrepancy is found in question/answer. So, Th
is question is ignored for all candidates.

Q.59
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A, Carotene
B. i
C. Xanthophylls
D. Chlorophyll

Ans xl'A
xgc
JS.B
X4.D

Qp%20(4).html

A blue, violet, or red flavonoid pigment found in plants is due to the presence of |

Chosen Option : 4

A. Combustion reaction

B. Decomposition reaction
C. Displacement reaction
D. Combination reaction

Ans x1.D
XZ.A
¢3.B
X4.c

Q.60 Which of the following chemical reactions is always endothermic in nature?

Question ID :2055233811
Status :Answered
Chosen Option : 1

A Abdul Kalam

B. Sam Pitroda

€. Nandan Nilekani
D. Azim Premji

Ans XI.A
«z.B
X3.D
X4.c

Q.61 Who is the author of famous autobiography "Dreaming Big: My Joumey to Consect India"? [

Question ID : 2055233816
Status :Answered
Chosen Option : 1

A. 512
B. 25/12

C. 13/12
D. 12/5

Ans Jl.B
XZ.A
X3.c
X4.D

Q62 1f 45inB-3cos6 = 0, then secOHcosech is: '

Question ID :2055233877
Status :Answered
Chosen Option : 1

A. OMNO
B. OOMN
C. NMOO
D. OMON

Ans X1.B
X 2D
X3.c
,4.A

Q.63 Ifin a certain language, STAR is coded as TSRA. how is MOON coded in that code? [

Question ID :2055233884
Status :Answered
Chosen Option : 1

) World Tour Finals for fhe 4% consecative [

A. Novak Diokevie
B. Rafee] Nadal

C. Serema Williams
D. Rozet Federer

Ans xl'B
X2.c
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Q-54 Who Secame the 1% player 1o win ATP (A thom of Tewmus Prote
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Question ID :2055233824
Status :Answered
Chosen Option : 3
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P) Dynamite
Q) Dynamo
R) Electron

S) Proton

Ans XLD
Jz.c
X3.B
X4.A

Invention/Discovery

A. P-b, Q-c,R-a, S-d
B. P-c, Q-b, R-d, S-a
C. P-c, Q-b, R-a, S-d
D. P-d, Q-c, R-b, S-a

Q.65 Match the following correctly:

Inventor/Scientist
a. J.1.Thomson

Question ID :2055233814
Status :Answered
Chosen Option : 2

b. Michael Faraday
¢. Alfred Nobel
d. Rutherford

2. Deforestation

A land 2
B.1.Zand4
C.1.2and3
D 1,2, 3and 4

Ans X1.A
X 28
X3.D
J4.c

3. Increased number of vehicles
4. Excessive use of solar heaters

Q.66 Increase in carbon dioxide in atmosphere is caused by which of the following reasons?
1. Excessive use of fossil fuels

Question ID :2055233849
Status :Answered
Chosen Option : 3

A, a0
B. 441
C. 445
D. 450

Ans x1.A
JZ.B
XS.D
X4.c

Q.67 Calculute the amouet If Rs. 400 & Investad an compound inter=st at the rute of 5% per 2nnom for 2 yeass.

Question ID :2055233866
Status :Answered
Chosen Option : 2

Q68 Complete the Figure X from the 4 alternatives 1,2.3.4

A\

\V

I

la

gnwe
Awu.—"

Ans x:]_.B
X2.c
X3.A

file://IC:/Users/R.Lokhare/Downloads/Qp%20(4). html#

(1)

(2)

Question ID :2055233891
Status :Answered
Chosen Option : 4

4 (0

(3) (4)
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Q.69

Ans

Which among the following network topelogies has the highest transmission speed? [

A. LAN
B. WAN
C. MAN

D. Both LAN and WAN have equal transmission speeds. |

‘,1.A
XZ.B
X 3D
X4.c

Question ID :2055233828
Status :Answered
Chosen Option : 3

Q.70

Ans

On dividing 15y - 30y + 12y - 12 by 3y - 6. the remainder is:

A6

B. 36
C. 30
D. 12

Jl.D
X2.c
X3.B
X4.A

Question ID :2055233870
Status :Answered
Chosen Option : 1

Q.71

Ans

Read the statements and sclect a conclusion from the given alternatives: |

Statements: Some benches are autos,
All the boxes are autos.
All the pens are benches.
Conclusions:
(1) Some benches are boxes.
(2) No pen is auto.
(3) Some boxes are benches.

A. None of three

B. Only (1) and (2)
C. Only (1) and (3)
D. Only (2) and (3)

Xic
X 2D
Js.A
X4.B

Question ID : 2055233901
Status :Answered
Chosen Option : 2

Q72

Ans

Indian has the largest area under

A. Oil Seeds

B. Sugarcang
C. Wheat

D. Apple
x 1.C
Jz. B
XS.A
X4. D

crop in the World. |

Question ID :2055233835
Status :Answered
Chosen Option : 2

Q.73

Ans

The longest chord in a circle is:

A. Radius
B. Diameter

C. Segment
D. Sector

vie
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Question ID :2055233875
Status :Answered
Chosen Option : 1
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X2.c
X3.A
X4.D

Q.74 Rerdthe and st 3 concl from the grven allematives:
Staternent: Good health 15 5 hiosry in coustry "X where e of mortality due 1o imger, maloutntion aad soby pesic
conditions Is very high as compared 90 otker 2atiows of that regicn.
Conclusisns:
1. People n commtry X' can't affced 1o barve mrany hesimies life
11 Good heakh Is a It of natues.

Question ID :2055233912
Status :Answered
Chosen Option : 1

Chause the night option

A caly conclusion 1 folkvws.
B caly concluséon 11 follow.
€. aither Lor 11 follows,

1. nevier 1 nor 11 follows.

Ans ¢1.A
XZ.B
X3.D
X4.c

Q.75 Which mitror is preferred as o rear-view (wing) mirtors is vehicles becawse of its wider fiedd of view? [

A. Convex

B. Pl

C. Concave

D, Coocavo comvex

Question ID :2055233838
Status :Answered
Chosen Option : 4

Ans xl_D
JZ.A
XS.B
X4.c

Q.76 The mam obgectives of Indian space programme are:
1. Mass Comunurdcation asd education via sagellite.
2 Survey md of nameral Weough semote sensin tectaology, J i d
meteorclogicsl frecusting,
1 Development of indigenous sytellites and sxtellne launch vehicles

A Ouly t
B CQuly2

Question ID :2055233847
Status :Answered
Chosen Option : 2

C o1& 5toth
D 1L2ad3

Ans «1.D
XZ.B
X3.A
X4.c

Q.77 Mmm:"pmkmwofmm“mmmmmm ome pair is different. Which is |

A Had : Soft
B Loag - High
C. Sweet : Sowr
D. Poitied : Blunt

Question ID :2055233888
Status :Answered
Chosen Option : 3

Ans ' 1.C
XZ.D
¢3.B
X 4A

Q.78 Read the statements and select a conclusion from the given alternatives: |

Statements: All the wires are books.
All the plates are books.
Some wallets are plates.

Question ID :2055233900
Status :Answered
Chosen Option : 3

Conclusions:
(1) Some wires are plates.
(2) Some books are wires.
(3) Some books are wallets.

Ans
file:///C:/Users/R.Lokhare/Downloads/Qp%20(4).htmi#
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x 1D
x 2.C
J 3.B
x 4.A

Q.79 Four puir of woeds are given below cut of which three are alike in some menner ;md ome pair is different. Which is
different from the rest”

A Student : Schobar

Question ID :2055233892

B Poddy - Huk Status :Answered
C. Soldier - Warice i
D. Polilicin - Lester Chosen Option : 1

Ans X 1A
xgc
'K3.D
l4.B

.80 If Sell: ice is Rs, 84 & QGain Percentage = 20%,, Calculate the Cost Price.
Q o ~ & ~ £ Question ID : 2055233867
A Rs. 70

B. Rs, 68 Status :Answered

C.Rs. T Chosen Option : 2
D. Rs. 69

Ans XLD
x2.B
J3.A
’)(4.c

Comprehension:

Based on the table below answer the following questions:
The table given below shows the percentage distribution of the total
expenditures of a company Zeta Interactive Services under various expense

heads during 2003.

Infrastructure 20
Transport 12.5
Advertisement 15
Taxes 10
R&D 5
Salaries 20
Interest on Loans 17.8

SubQuestion No : 81

Q.8 14 the inferest on Joons amomnted to Bs 2,45 crores, then Se sotal amount of expenditure on advertisement, taxes and
1 research ned development of Zeta Interactive Services is

A Ra T croess

Question ID :2055233910

B Rs. 5.8 crores Status :Answered
:; E::E,::‘f’ Chosen Option : 3
Ans x 1.A

‘/2.(:
K3.B
K4.D

Comprehension:
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Based on the table below answer the following questions:
The table given below shows the percentage distribution of the total
expenditures of a company Zeta Interactive Services under various expense

heads during 2003.
Infrastructure 20
Transport 12.5
Advertisement 15
Taxes 10
R&D 5
Salaries 20
Interest on Loans 17.8

SubQuestion No : 82
Q_8 What i the rafio of the lotal expenditure oo né = port 1o the tots] expendiere oo Saes and mlevest on

2 oswns of Zétn Toferactive Servioss? QUeStiOn ID : 2055233909
s:
g.x-: Status :Answered
C. 97

D. 111 Chosen Option : 2

Ans XLA
KZ.B
l3.D
x4.c

Comprehension:

Based on the table below answer the following questions:
The table given below shows the percentage distribution of the total
expenditures of a company Zeta Interactive Services under various expense

heads during 2003.
Infrastructure 20
Transport 12.5
Advertisement 15
Taxes 10
R&D 5
Salaries 20
Interest on Loans 17.8

SubQuestion No : 83

Q8 If the experditize of Zeta Inberactive Services on advertisoent 7 2 10 croces then the difference between the expenditiee
3 o g oot dnd taxes b7

Question ID :2055233908
A, Rs. 125 crores

B. Rs 95 lahs Status :Answered
C. Rs a8 il .
D, Rs. 38 lakhe Chosen Option : 1

Ans )(1.A
Xac
JB.D
X aB

Q.84 ‘ |
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A dhopheeper purchosad 3 depeo systam of mecked price s 2000, st sscoessve dissosnts of 1086 & 15% regpectively
He thes speut Ra. ™0 0a pockiging 204 50 it ot s 2000, Cabelare his gain peroseraze.

A, No Gain
B. 2%
C, 3%
D. 4%

Ans x1.A
X 2D
I&B
X4.C

Question ID : 2055233869
Status :Answered
Chosen Option : 1

Q85 Who among the following is/was not associated with Cricket?

A. Farhaan Behardien
B. Aaron Phangiso
C. Vernon Philander
D. Stan Wawrinka

Ans ‘,1.D
XZ.A
X3.c
X4.B

Question ID :2055233823
Status :Answered
Chosen Option : 2

Q86 Which of the following is the outermost part of human skin?

A. Epidermis
B. Dermis

C. Hypodermis
D. Nerve Fiber

Ans  X'1.C
Jz.A
x3.D
X4.B

Question ID :2055233844
Status :Answered
Chosen Option : 2

Q87 Insert the missing character in?
1
9 : 5 5 4l 3 8 3
6 8
A. 262
B. 622

C. 631
D. 824

Ans  of 1B
Xac
X 3D
X 4A

Question ID :2055233886
Status :Answered
Chosen Option : 1

Q88 Indian National Army was formed by:

A. Mohan Singh
B. Subhash Chandra Bose

C. Chandrashekhar Azad
D. Ras Bihari

Ans
file://IC:/Users/R.Lokhare/Downloads/Qp%20(4). html#

Question ID :2055233837
Status :Answered
Chosen Option : 1
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?(1.8
.Jz.A
}(3.(:

?(4.D

Q8 Factors of x2 - 6x + § are; Question ID : 2055233871

Status :Answered

Ax-4(x-2)
B.(x+4)(x+2)
C.(x+8)(x-2)
D (x-4)(x+2)

Ans o 1A
XZ.D
Xs.c
}("4.3

Q.90 Fined the lest prmiber that must be subtracted from 87375, fo get a number exactly divisibie by 698,

Chosen Option : 1

Question ID :2055233854

A M
B. 125 Status :Not Attempted
C. 130

D. 378 Chosen Option : -

Ans xl_c 1
KZ.A
?(3.D
(4.3

Q.91 Which company developed the Android 0%, a mokile operating system Softwars in 20077 [
A Microsoft Corp.

Question ID :2055233829

B. Google Corp. Status :Answered
C, Imfel .
o Ap;_ﬂ,e Carp. Chosen Option : 2

Ans ?(1,(;
?(Z.A
,3.3
?(4.D

Q.92 In 3 sersain code language, if HISTORY is coded a5 7510843 and CIVICS f coded mr 135303, Hum VISTTOR wall be [
sl gt

Question ID :2055233882
A 5113634

B, 6R43412 Status :Answered
. B453%52 X
D 8423615 Chosen Option : 2

Ans XLB i
«2.A
5 sc
54D

Q.93 A man baye 20 pancils for Be & and salls 16 panwils for Ra. 6. Caleubsse his goin of loss parcentags. | }
A0 Question ID :2055233868

B. 25 Status :Not Attempted

C. 27
L3 56 Chosen Option :--

Ans 1.C L
2.B
3.A
4.D

Note: For this question, discrepancy is found in question/answer. So, Th
is question is ignored for all candidates.

Q.94 B .
Question ID :2055233858
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Ans

p

Three chocks are designed to alamm one every hour, 2very twe hours and every tirec hours respectvely. 1 they all
almmed together novw, afier bow many bours: they will togeiber slom pexs?

A, 5 b
B 5 ks
. 4 s
D, 12 hivera

K LA
}{2.D
.,,3.3
X4.c

. tm

Chosen Option : 1

Ans

Q95 Tf ab = 1/3 : b/c =1/2 and a=2 then the value of ¢ is;|

AR
B. 10 L

Question ID :2055233860
Status :Answered
Chosen Option : 3

co12
D. 16

Xie
?{Z.A
W3c
}(4.D

Ans

Q.96 Ifim a certain language, SINK is codad as ISKM, how is MINT coded in that code? [

A TMWNI
B. IMTH

C. INMT

D. TINM Ll

.’1.3
N 2c
/53D
?{4.A

Question ID : 2055233883
Status :Answered
Chosen Option : 1

Ans

Q.97 To take the reveixze for the fallamwals Bagh Massacre, who killed General O'Doaver i Leadon? [

A, Sarclar Bhagat Singh
B. Sardar Udham Sizgh
€. Sirdar Ajit Singh
D, Raj Guru

Question ID :2055233836
Status :Not Attempted
Chosen Option :--

Xic )
xz.A
W38
254D

Ans

Q.98 Heeead the sistemems amd sefect & conclusion from the given aitematives:

SLABETmIN: CI0F STy invasmenle chery ket risk, Conaull sour investment sdvisor or ager befing invisling
Comelnninns:

L e should mot invest in ety

1L The imestment advisor cabculates te market resk with certmmnby.

A Oy cenzlusios [ folloas |

Question ID :2055233913
Status :Answered
Chosen Option : 2

B Owly conslusion [ foliows
. Bithwar 1o 11 Tolloae
I, Meither 1 nor 10 follows

25 LA
W28
253D
X4.c

Ans

Q.99 [_‘nun,git-mgl:dm.mt;rpmnmtlmlm.permhrpn-pemwhichnzmmngﬁﬂlmhbm. i

the lezgth of the base

Acdgm
B Bom
.l em
I diem

X Lc

XZ.B
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Question ID :2055233873
Status :Not Attempted
Chosen Option :--
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WA
X0
Q.10 Who among the following is famously known as "The Haryana Hurricane™?

0 vt Question ID :2055233822
4 e Al - Status :Not Attempted

B. Kapil Dev )
C. Saina Nehwal Chosen Option :--
D. Vijender Singh
Ans x 1. A
J 2.B
x 3.D
x 4.C
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